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A. Multiply the following  

Answer  1  

3,425 

 

Answer 2.  

12,714. 

 

Answer  3. 

28,928. 

 

Answer  4. 

56,811 

 

Answer  5 

19,437. 

 



B.  Solve  the  following  word problem. 

Answer  1 

My mother  bought  2184 doughnuts  in  all. 

 

Answer  2 

There are 11,88 capsules  in  total.  

 

Answer  3 

There are  4291 apples  in 7 such  boxes. 

 

Answer  4 

There are  2,040 wheels  in  510 buses. 

 

Answer  5 

There are  2190 days in 6 years. 

 ---------------------------------------- 

Text book   

Answer  key  

Page 71 exercise  4.6 A 

Number  1 ,2, 3, 4 

Answer 1 

752. 

Answer 2. 

704. 



Answer 3. 

646. 

Answer 4. 

504. 

Page  72 B 

Number  14, 16,18,20 

 

Answer  14. 

228. 

 

Answer 16. 

1,575. 

 

Answer  18. 

896. 

 

Answer 20. 

900. 

 

Page  73 exercise  4.7 B 

Number  1,2,3,5 

 

Answer  1. 

312. 



 

Answer 2. 

855. 

 

Answer 3. 

1,071. 

 

Answer 5 

900. 

 

Page  74 B 

Solve the  following  word problem  

Number  1,2,3,4,5 

 

Answer 1 

There were  660 trees  in  the  garden. 

 

Answer  2. 

675 children  took  part in the boat race. 

 

Answer  3. 

There will be 1,004 petals in  251 flowers.  

 

Answer  4. 



870 people  went to Kashmir  on Thursday.  

 

Answer  5. 

1,872 people  can  watch  movies  in the  multiplex theatre at one 

time.   

                   ---------------------------------- 


